
80575B Trimmer to Brushcutter 
Conversion Kit
For Models: T235, T254, T262, T344

80575B Kit de conversión de podadora a 
desmalezador
Para modelos: T235, T254, T262, T344

www.shindaiwa.com

Illustrated Parts List
Lista de Piezas

TRIMMER TO BRUSHCUTTER CONVERSION KIT - 
GEAR CASE WITH TWO MOUNTING BOLTS...............2
KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE ENGRANAJES 

CON DOS PERNOS DE MONTAJE

TRIMMER TO BRUSHCUTTER CONVERSION KIT - 
GEAR CASE WITH ONE MOUNTING BOLT..................4
KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE CAMBIOS 

CON UN TORNILLO DE MONTAJE

©2017 ECHO Inc.   Part Number 99922205132     Effective 06/26/17

400 Oakwood Road, Lake Zurich IL 60047    Telephone: 847-540-8400    Fax: 847-540-8416

Accessories for Shindaiwa products can be found at:
Los accesorios para los productos Shindaiwa se pueden encontrar en: 

www.shindaiwa-usa.com/products/accessories.aspx

READ THE
OPERATOR’ S M ANUAL

WEAR HEARING AND ANSI Z8 7 .1
APPROVED EYE PROTECTION

KEEP BYSTANDERS AWAY
AT LEAST 5 0 FEET (1 5 m)

BEWARE OF THROWN OR
RICOCHETED OBJECTS

USE HANDLEBAR OR BARRIER
WHEN OPERATING WITH A BLADE

WEAR HARNESS WHEN
OPERATING WITH A BLADE

BEWARE OF
BLADE THRUST

50 FEET
(15m)

8” BARRIER

www.shindaiwa.com
http://www.shindaiwa-usa.com/products/accessories.aspx


	   + Denotes item is part of an assembly	   + Denota artículo forma parte de una asamblea
	 ++ Denotes item is part of a sub-assembly	 ++ Denota artículo forma parte de un submontaje

Effective 06-26-2017
2	

80575B Conversion kit/ Juego de conversión

TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH TWO 
MOUNTING BOLTS
KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE ENGRANAJES CON DOS PERNOS DE 
MONTAJE

1

2

READ THE
OPERATOR’ S M ANUAL

WEAR HEARING AND ANSI Z8 7 .1
APPROVED EYE PROTECTION

KEEP BYSTANDERS AWAY
AT LEAST 5 0 FEET (1 5 m)

BEWARE OF THROWN OR
RICOCHETED OBJECTS

USE HANDLEBAR OR BARRIER
WHEN OPERATING WITH A BLADE

WEAR HARNESS WHEN
OPERATING WITH A BLADE

BEWARE OF
BLADE THRUST

50 FEET
(15m)

8” BARRIER

3

4

11

5

18

23

24

6

20

19

16

17

21

22 1213

14

15

7
8

9

10



	   + Denotes item is part of an assembly	   + Denota artículo forma parte de una asamblea
	 ++ Denotes item is part of a sub-assembly	 ++ Denota artículo forma parte de un submontaje
Effective 06-26-2017

 3

80575B Conversion kit/ Juego de conversión

NO. PART NUMBER QTY. DESCRIPTION DESCRIPCIÓN
1 C405000420 1 BAR, BARRIER BARRA PROTECTORA
2 90030020022 10 PIN, COTTER 2×22 PASADOR DE CHAVETA 2×22
3 90051300010 1 NUT 10×1.25 LH TUERCA 10×1.25 LH
4 C535000150 1 PLATE, ADAPTOR - LOWER PLACA DEL ADAPTADOR INFERIOR
5 61031307132 1 PLATE, ADAPTOR - UPPER PLACA DEL ADAPTADOR SUPERIOR
6 P021050520 1 DEBRIS SHIELD KIT - BLADE JUEGO DE PROTECTOR CONTRA RESIDUOS - CUCHILLA
7 V805000170 3 +BOLT, TORX 5×25 +PERNO TORX 5×25
8 C552000240 1 +PLATE, SHIELD +PLACA PROTECTORA
9 C550000770 1 +SHIELD, DEBRIS - BLADE +PROTECTOR CONTRA RESIDUOS - CUCHILLA
10 90056250005 3 +NUT, LOCK M5 +CONTRATUERCA M5
11 C646000060 1 HANGER, HARNESS COLGADOR DE ARNÉS
12 V805000140 1 BOLT, TORX 5×12 PERNO TORX 5×12
13 C062000390 1 HARNESS ASSY, SHOULDER MONTAJE DE ARNÉS PARA EL HOMBRO
14 C644000080 1 +PAD, SHOULDER +HOMBRERA
15 C649000200 1 +HOOK, SNAP +GANCHO
16 X605000060 1 WRENCH, T27 80×30 LLAVE T27 80×30
17 X605000100 1 WRENCH, ALLEN 4 MM LLAVE ALLEN 4 MM
18 X505005890 1 LABEL, CAUTION (BLADE CAPABLE) ETIQUETA DE PRECAUCIÓN

TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH TWO 
MOUNTING BOLTS

KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE ENGRANAJES CON DOS PERNOS DE 
MONTAJE



Effective 06-26-2017
4	

80575B Conversion kit/ Juego de conversión

TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH ONE 
MOUNTING BOLT
KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE CAMBIOS CON UN TORNILLO DE 
MONTAJE

1

2

READ THE
OPERATOR’ S M ANUAL

WEAR HEARING AND ANSI Z8 7 .1
APPROVED EYE PROTECTION

KEEP BYSTANDERS AWAY
AT LEAST 5 0 FEET (1 5 m)

BEWARE OF THROWN OR
RICOCHETED OBJECTS

USE HANDLEBAR OR BARRIER
WHEN OPERATING WITH A BLADE

WEAR HARNESS WHEN
OPERATING WITH A BLADE

BEWARE OF
BLADE THRUST

50 FEET
(15m)

8” BARRIER

3

4

11

5

18

23

24

6

20

19

16

17

21

22 1213

14

15

7
8

9

10



	   + Denotes item is part of an assembly	   + Denota artículo forma parte de una asamblea
	 ++ Denotes item is part of a sub-assembly	 ++ Denota artículo forma parte de un submontaje
Effective 06-26-2017

 5

80575B Conversion kit/ Juego de conversión

NO. PART NUMBER QTY. DESCRIPTION DESCRIPCIÓN
1 C405000420 1 BAR, BARRIER BARRA PROTECTORA
2 90030020022 10 PIN, COTTER 2×22 PASADOR DE CHAVETA 2×22
3 90051300010 1 NUT 10×1.25 LH TUERCA 10×1.25 LH
4 C535000150 1 PLATE, ADAPTOR - LOWER PLACA DEL ADAPTADOR INFERIOR
5 61031307132 1 PLATE, ADAPTOR - UPPER PLACA DEL ADAPTADOR SUPERIOR
6 P021050520 1 DEBRIS SHIELD KIT - BLADE JUEGO DE PROTECTOR CONTRA RESIDUOS - CUCHILLA
7 V805000170 3 +BOLT, TORX 5×25 +PERNO TORX 5×25
8 C552000240 1 +PLATE, SHIELD +PLACA PROTECTORA
9 C550000770 1 +SHIELD, DEBRIS - BLADE +PROTECTOR CONTRA RESIDUOS - CUCHILLA
10 90056250005 3 +NUT, LOCK M5 +CONTRATUERCA M5
11 C646000060 1 HANGER, HARNESS COLGADOR DE ARNÉS
12 V805000140 1 BOLT, TORX 5×12 PERNO TORX 5×12
13 C062000390 1 HARNESS ASSY, SHOULDER MONTAJE DE ARNÉS PARA EL HOMBRO
14 C644000080 1 +PAD, SHOULDER +HOMBRERA
15 C649000200 1 +HOOK, SNAP +GANCHO
16 X605000060 1 WRENCH, T27 80×30 LLAVE T27 80×30
17 X605000100 1 WRENCH, ALLEN 4 MM LLAVE ALLEN 4 MM
18 X505005890 1 LABEL, CAUTION (BLADE CAPABLE) ETIQUETA DE PRECAUCIÓN
19 61031507130 1 SPACER 11.8×15×9 ESPACIADOR 11.8×15×9

TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH ONE 
MOUNTING BOLT

KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE CAMBIOS CON UN TORNILLO DE 
MONTAJE


	80575B Trimmer to Brushcutter Conversion Kit
	For Models: T235, T254, T262, T344
	TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH ONE MOUNTING BOLT
	TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH ONE MOUNTING BOLT
	TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH TWO MOUNTING BOLTS
	TRIMMER TO BRUSHCUTTER CONVERSION KIT - GEAR CASE WITH TWO MOUNTING BOLTS


	80575B Kit de conversión de podadora a desmalezador
	Para modelos: T235, T254, T262, T344
	KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE CAMBIOS CON UN TORNILLO DE MONTAJE
	KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE CAMBIOS CON UN TORNILLO DE MONTAJE
	KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE ENGRANAJES CON DOS PERNOS DE MONTAJE
	KIT DE CONVERSIÓN DE PODADORA A DESMALEZADOR - CAJA DE ENGRANAJES CON DOS PERNOS DE MONTAJE



